Va2 =4 4 o, a 9] & oot




2. V81— +0.09+ /(0.9)% - \/%—% Al4stA?

@® 3.05 @ 3.15 ® 3.25 @3.35 ® 345

1
(£4)=3-03+09- 7 =335




3.

VITT % ] ko] A7 S|w 5 She 7P 2 A x £

@ 4 @8 @ 10 @ 12

V25 O|B& x = § o|T},




7< V1022 <12 o] AU ], A4 x O] G BF FotH?

® +1 @ +2 @i3 @ +4 ® 5

B

7 < V102 < 12
49 < 10x% < 144
49<x% <144

=9

SLox==3




V3 x V9 x V27 x V15 x V20 x V21 & 7+3s] 5HH?

® 907 @ 2707 ©)
@ 90 ® 270

B

(&)

= V3x3x3V3x V3x VEx2vV5x V3x V7
=81 x5x2V7

=810V7




ul
S

K0

A

ul
El

K0

@Q_w_s
Q @



N2 sas Aow 2o AL
V2 2 V5 5
@5 93 D 3

Vivs VIO

Vive 5




8.

A 2(V12x VT) + (V28 x V3) & e

@1 @2 ® 3

4x12%x7
(F43) =y 28 % 3 2




(42 o oFe] ABTL a, VBT 9| 5 AL bt

sk

o, ab <]

(~4)? = 16 = (+4)?

Soa=+4
V81 =9 = (+3)?
o b=-3

cab = (+4) x (=3) = -12




10.

2<x<5 A A o At \/(x+2)%+ \/(x-57 L
stolat.

> &

> ®™et: 7

7t

—

o]

—2<x9BR2 x4+2>0,x<5°9B2 x-5<0
L(EA)=x+2-(x-5)=7




11 /T 7F 4947} 552 ol AV 2 g4 x 8 Pttt

4
2 X3 Xx o]

- 02 x=3x7=210|t}




Vi3 >3 olB&2

V(VB=3)"+ \/(3- V13)°

VI3-3-(3- Vi3)
Vi3-3-3+ Vi3
2V13 -6




@ 3.14 &= T 5oltt.

©® 258 Agotol tehd S BT Resoltt,




14. o5 I Aol B AL o, A Ml H A, B, C, D, E

(s}
o] HEF vt Wik AL BE VWY

A

>l <
&
|
\)
vs!
A
o
Q
w
—
\)
e -

®B-1-v2)  @c1+v3) @ D1+ V2
@E(l + V2) ® A(-2+ V2)

A=-2-v2.B=-v2, C=-1+vV2,D=2-v2, E= 1+ 2
ojlEZ @,@o]|t},




15. thee 444 glo] g W] Zol7h1 9l HAZEE 18l Zelt.

A P .Q Aol A2lg Fohm?

/// \\ // \\\
7’ \ / N
// Vo \\
< , \A 2 N >
1 2 PQ 3 4
D 1-42 @ 1+2V2 ® 2-22
@)3-2v2 ® 4- 2

=
e

4-V2-(1+ V2)=3-2+v2 o[tk




D

16. th= F24olA Va3 of df-g5he e

® A @ B ® C

V36 < V43 < V49
L 6< VA3 <7




g

® Vbye

@ +ave
® abc

@ac

@ bc

6ac

V32x 23 x5=6v25

‘ V360




18. ot Ho A2

oo
Mo

=
K3

@ VI0-& V2 © 5 o]t
@ 25 o AlB2L 5 olt}.

@)- V37 & -3 oIt

@ V16 9] AFLE 4 ot

® -8 9| 2o AFEE VB olt}.

B

D V10 2 v2 o V5 Hijott.
@ 25 ] AlFZL +5 oo
@ V16 o] AFZ2 +2 otk

==
© e59 ABZL ek,




o=t

B fe4E B A1 15

o
=]

19. o

H7]

NIy

3

-, 01, =
5

—/3, 2.3683 -

J|J

(]

Il

i
o o

— |

0.1 =

gjolct,

A

— o

-3, 2.3683---,

HahA el 370l




op

@ F 2% V5 2 V6 Al

@) V5 ol 7% 7t

=
—

ojAe, M= tf

® A%et 524 919 A Aol

iasy

St 27

1 B2 72
7t 2=

S

< <




03 & 5o AE Huet A F &2 A2
@4>\/§+2 @ V11-3> V11- V8
T 1
® 3> V13 @ 5<3
® 2+ V2>2+ V3
D4-vV3-2=2-+3>0
4> 342
) VII-3- (V11— V8) = -3+ V8
=-v9+ V8<0
SoVIT=-3< V11— 8

® = AlEotd
(FH)=32=9, ($H)=(VI3)2 =13
3< Vi3
@ -2 Algotd

o (V1) -here(3) -

@2+ V2-(2+ V3) = V2-V3<0
D24 V2<24+ 43

—~




@ V125 © ?
5 5
© 25 ® 49

@Da-0-6>0 © 6>0>0>@ O G>@>0>0
@ ©>@>0>0 G 0>0>e>0

B

V5
O3
5 b
©Vs =5
5 b
O V=T

L O>O>0>0




23. =S E

r=
T

=

azt o, of" H b o oM b-a 9

1
S A

Adigto] 0 7} 1 Atololth. B4 b 7FE 5 QL 3S pratolat,
H7]
1 ]
CRRCAF e
» &
> &®e: 3

<2<30|BE J}A 2 S

1,2 0|22 |5 ¥

&

o|tt.

J#G 12 <3<22 =402 1 < V3 <27} 3t

SHH 3 ot}




24.

o2 5 A Ul of, 7H 2 224 9l 2
3+ V3, 2v3-1, 1+ 2, V3-2, 6- 3
@3+\/§ @ 2v3-1 ® 1+ V2
@ V3-2 ® 6- V3

B

D Vi< V3< V4

3+ VI<3+ V3<3+ V4
S 4<3+V3<5
@2V3-1=+V12-1
V9 < Vi2 < V16
Vo-1<+v12-1<+V16-1
L 2<V12-1<3

® Vi< V2< V4

1+ Vi<l+V2<1+ V4
L 2<14+vV2<3

@ V3-2=+3-+Vi<0

®-Vi<-V3<-41
6-Vi<6-V3<6- V1
L 4<6-13<5b

O @ vlus) 2

L3+ V3>6-13

&40l Bz AY A% glck,

3+ V3-(6-V3)=2V3-3=+V12-V9>0




Yol Alolo=Cc =D 2 28], BE=C 9 2
2 o]

TAZE ATl ottt A o] |elrt 2em? o o,

A
B
Clp
@) icm @%cm %cm
@ ﬁc ® gcm




